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AcuoXETIoTEG (AEUKOG B6pUB0G) Kal avegapTnTEG (iid) TTOpATNPACEIS

Chatfield C., “The Analysis of Time Series, An Introduction”, 6™ edition, p. 38 (Chapter 3):
“Some authors prefer to make the weaker assumption that the z’s are mutually uncorrelated,
rather than independent. This is adequate for linear, normal processes, but the stronger
independence assumption is needed when considering non-linear models (Chapter 11). Note
that a purely random process is sometimes called white noise, particularly by engineers.

p. 221 (Chapter 11):

When examining the properties of non-linear models, it can be very important to distinguish
between independent and uncorrelated random variables. In Section 3.4.1, white noise (or a
purely random process) was defined to be a sequence of independent and identically
distributed (i.i.d.) random variables. This is sometimes called strict white noise (SWN), and the
phrase uncorrelated white noise (UWN) is used when successive values are merely
uncorrelated, rather than independent. Of course if successive values follow a normal
(Gaussian) distribution, then zero correlation implies independence so that Gaussian

UWN is SWN. However, with non-linear models, distributions are generally non-normal and
zero correlation need not imply independence.

Wei W.W.C., “Time Series Analysis, Univariate and Multivariate Methods”, p. 15:

2.4 White Noise Processes

A process {a;} is called a white noise process if it is a sequence of uncorrelated random
variables from a fixed distribution with constant mean (usually assumed 0), constant
variance and zero autocovariance for lags different from 0.
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